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Gabe Gabrielson has a nine-year-old son named Colin. Like many nine-year-olds, Colin frequently finds

himself in disagreement with parental policies. G, C , 2t&t0t

(A) After a few debates that left both of them feeling frustrated, Gabe decided to change strategy, and
announced, "Okay, Colin, we'll try it your way for three days. But if you're late for school any of those

days, then we go back to the old system.”

(B) For example, he protested Gabe's policy that he get fully dressed before coming down to breakfast.
Gabe didn't particularly care what Colin wore at the breakfast table, but he worried that if Colin didn't
dress first, he'd wind up late for school. “But I'm more comfortable in my pajamas!” Colin argued.

(C) Colin, amazed by the change in response, aced the trial run. He wore his pajamas and stayed
punctual. As a result, the new practice stuck, and both sides are happier with the outcome.
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Film speaks in a language of the senses. Its flowing and sparkling stream of images, its compelling pace
and natural rhythms, and its pictorial style are all part of this nonverbal language.

(A) As important as the quality of the image may be, however, it must not be considered so important
that the purpose of the film as an artistic, unified whole is ignored. A film's photographic effects should
not be created for their own sake as independent, beautiful, or powerful images.

(B) In the final analysis, they must be justified psychologically and dramatically, as well as aesthetically, as
important means to an end, not as ends in themselves. Creating beautiful images for the sake of creating
beautiful images violates a film’s aesthetic unity and may actually work against the film.

(C) So it follows naturally that the aesthetic quality and dramatic power of the image are extremely
important to the overall quality of a film. Although the nature and quality of the story, editing, musical
score, sound effects, dialogue, and acting can do much to enhance a film's power, even these important
elements cannot save a film whose images are mediocre or poorly edited.
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When dealing with investments, different people have different risk profiles. If risk is a continuum from
high risk to low risk, a retired investor will generally take less risk than a young investor just entering the
market.

(A) No, younger investors tend to take more risk with their investments because they have a longer time
horizon on when they expect to actually need their money. For the vast majority of people, the reason
they invest is so they can enjoy retirement.

(B) Why is this? Why are younger investors generally willing to take more risks than older investors? It is
not because younger people don't care or tend to make hazardous decisions, although that may be true
to some extent.

(C) This means that younger people are not expecting to sell their investments for twenty or thirty years.
With this kind of time horizon, they can afford to shoot for the higher risk, higher return investments.
For them, the prospect of losing money is not that bad. If they lose, they still have time to make it up.
(381

_42_



[13] =AMEHE 2HZ0l_ =2| =AM

[2014'3] St ™7t oA}
1. F0{ZT 2 |20 o0& 22| =AME 7% HHESH H2? [2014-3 ME]

Gabe Gabrielson has a nine-year-old son named Colin. Like many nine-year-olds, Colin frequently finds

himself in disagreement with parental policies.

(A) After a few debates that left both of them feeling frustrated, Gabe decided to change strategy, and

announced, “"Okay, Colin, we'll it your way for three days. BUwif you're late for school any of those

days, then we go back to the ol§ system.”
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punctual. As a result, the new practice stuck, and both sides are happier with the outcome.
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